EARAROBEEIERT — 2 N— IBISH —F

2019510838 () 15@EEME5SH

m B2C1 #5%3mL (xwlm | mEmml - |5 0w
[AE4£] 17 :900,000 3 ~ 23%&:252,000  ~ 33#&:126,000 @ . 4 37#&:90,000  ~ 53 :72,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. 4 4 | TRE 2:06.2 3-3-4-4 | 40.1| — 2 458 | BMEUR (FERR)
1 2| 71T~ TA%=2X 55.0 e} Cy |8 G G G MA-2257
RwYETyEk BiHATAL L — ARET2—T7—L
=g i 4 | AKE 2:06.3 7-7-8-4 | 39.7| — 3 443 | AT (FEH)
2|11 | 7Y —bAL— A52.0 (1/2) (-4 | @) Ambition
R:y07% B:FH¥-—ALI—F 17 3405
T > 4 | JNIRE— 2:06.6 10-10-9-7 | 39.6 | — 6 439 | RFIRF (EH)
sl 4| A FTxT—L 7 80 (1 3/4) (e) | WO
LeANT =T B:TCE-2TN FATAT7—1I
o B3 | KIHFEMA 2:06.6 6-6-6-8 |40.0| — 1 494 | BIRIEIEE (i)
4(8|12| 1/~ kb %54.0 F5%) (1a) | A
LTAIWNTTFHF— B:hyRIES Y EvilLy RIT7—L
s_ 5 s 4 | WWHEHEX 2:06.8 1-1-1-1 |40.9| — 9 415 | FEHEE (EMA)
5/7|9|B-Y—TN— 53.0 3/4) C |t
ARG TTZ B TL— hN=ARZ b 752 Ris
. EREE :06. -4-3- 6| — EEES (Fk)
N s RIEEEEREEE R =3 iy | e e * | o |
R:wlpyz>y B:HxAX343 L8
- AT . WRT W — KEE= (B@E)
715l 6| -2 3=z i 6 s (21017/4()) 9-9-10-9 | 40.1 10 (4&2) rEES
R:TwLINEry b BiA—23%0 E[=Ee
N . AARKH : 55— — EREY (FH)
8 METE S P 5 s 2(/%) 5-5-5-6 | 40.7 4 <5+153; éﬁg;ﬂ
L:xA1=ZGr7—R BT LT 1— BERS
4t 5 | BhRE 2:07.3 2-2--3 | 41.3| — 7 | 440 |HRERE (FHR)
9|8|11| Y- AF TN 55.0 (1 1/4) 45) | @R Fr—xbEVar
LTANWNTTFY— B:vA x4 >T74% EvJILy RT77—L4
=" NEREF : =iil=ili= = tE¥v (BH
10 3 TYRRZLT 4 44 | 1 2(.30/?4.)5 11-11-11-111 40.0 1 (4+921) i
RHTIRIAY B RTRTE—T FUIS S
- - R .08 66 3 — LG
Mlsls| vk x52% it 4 i) 2(038)0 8-8-6-10 | 41.3 8 (4;2) SEnE
8= RIVKRTI BivN—IN=F 4 J=HrTp—L
N 4 | FHET — - — — — — | ®FRTE (EM)
x| 7]10| ZTH—NI X # 5.0 (EH) (—) |ZkatE
R:ANTr—FI B:EHS TN RS
® I —F—EBIERL
13=zr= 9,11,2,8,7,12,1,5,6,4,3
Aol=5r= 9,11,2,8,7,12,1,5,6,4,3
G§a=7r= 9,11,8,2,7,(5,12),1,4,6,3
43—+ — 9,8,11,(1,2),7,4,12,6,5,3
[ RN
B OB 2 280M 714K 1-2 330M e & 1-2 920M &R 1-2-4 4,040
8 B 2 120/ 2-4 600F B = 1-2 780M JEH 2-1-4 13,350
1 1904 1-4 1,510 B H# 2-1 1,430
4 250M

ABICOVWTRDTEEERROODE. TR LIV,




